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B.  
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A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  
D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 

Q6. __________ is the synonym of "FRIENDLY." 
 

A. Mean B. Reserved 

C. Amiable D. Aloof 
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Q7. __________ is the antonym of "OBVIOUS." 
 

A. Evident B. Explicit 

C. Unsubtle D. Obscure 

 

Q8. Identify the meaning of the idiom "have butterflies in one's stomach." 
 

A. To do a job in a rushed manner B. To be so angry that your stomach feels tense 

C. To be nervous D. To have a stomach illness 

 

Q9. The sentences have an incorrect phrase, which are shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
"By the time I arrived at the train station, my train is leaving the platform." 

 

A. had left B. leaves 

C. leaving D. do leave 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
We _____ down the street when the traffic lights suddenly turned red. 

 

A. had driven B. were driving 

C. will drive D. drive 

 

Q11. Which book written by Kautilya have details regarding running of an Empire? 
 

A. Arthashastra B. Sangitashastra 

C. Natyashastra D. Kavyashashtra 

Q11. �L�?ल㉍0 �?1? �ि�?- ��A +Jस㡍-� /O A?्䵞?जᱍ0 �ि?)O �O  -?1O /O �??1, BP? 
 

A. 
}->?}र B. 9��I->?}र 

C. 1?टὍ0>?}र D. �?}0>?}र 
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Q12. Which city in India will host Men's Hockey World Cup in 2023? 
 

A. Rajasthan B. Bhubaneshwar 

C. Indore D. Bengaluru 

Q12. 2023 A?ि /O .?1- �? �L)A? ?B1 /Oन⡍A (+Jy@) B?�ी �?� �+ ��-स㡍+}?ा �ी /O�-?)I �1O�?? 
 

A. 1?�}}?1 B. .I-1O�=1 

C. �m/K1 D. -Om�लIy 
 

Q13. India and _________are separated by the Palk Strait. 
 

A. Maldives B. Sri Lanka 

C. Bhutan D. China 

Q13. +?ल㉍� स㡍रO? �O  �?1? .?1- �1 _________ �?ि� ��ए �ए BP| 
 

A. /?ल/I=� B. ्䵦Iल��? 

C. .-ू?1 D. �I1 

 

Q14. Gujarat and Arunachal Pradesh have time lag of _____hours. 
 

A. 2 B. 3 

C. 5 D. 4 

Q14. �J�1?- �1 
y,?�ि �/O? /O __________  
?ो䬂 �? ??�/ िP� (A/0 

-1?ि) BP| 
 

A. 2 B. 3 

C. 5 D. 4 

 

Q15. The constitution of India consists of _______words. 
 

A. 155,000 B. 154,000 

C. 145,000 D. 144,000 
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Q15. .?1- �O  A
�?}?) /O ___________ ?m/ BP| 
 

A. 155,000 B. 154,000 

C. 145,000 D. 144,000 

 

Q16. The native language/dialect of people of Haryana is _________ . 
 

A. Haryanvi B. Sindhi 

C. Devanagari D. Urdu 

Q16. Bर10?,? �O  िK�ो䬂 �ी /Kि .?@? / -KिI BP_____________ 
 

A. :910?,=I B. 99m0I 

C. /O=1?�1I D. �/ू- 
 

Q17. Which newspaper was published in the year 1916 in Haryana? 
 

A. Haryana Tilak B. Jat Samachar 

C. Jat Gazette D. Haryana Shodh patrika 

Q17. Bर10?,? /O 1916 /O �L)A? ?-ा/?)+} ��?�?- Bु� .?? 
 

A. :910?,? --ल� B. �?ट 9/?�?1 

C. �?ट �P�Oट D. :910?,? >K0 +}र�? 
 

Q18. Who was popularly known as Shakespeare of Haryana? 
 

A. Pandit Lakhmi Chand B. Pandit Lakshmikanth 

C. Thansen D. Ahmed khan 

Q18. Bर10?,? �O  ?O]A�+01 �O  )?/ AO ��AO �?)? �?-? .?? 
 

A. +�)?- ल�/I ��/ B. +�)?- ल�/I�?�- 

C. -?19O1 D. 
:// �?1 

 
 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 64, Computer Operator, 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 22, 2020  Page 5 of 26 

 

Q19. Which of the following is not a topographic division of Haryana ? 
 

A. The Alluvial plain B. The Aravali Outliers 

C. The Shiwaliks D. The Western Ghats 

Q19. �)म⹍) /O AO �L)A? Bर10?,? �? ?K+K्䵇?�?� (स㡍.ि?�L �-) �?.?� )BK BP? 
 

A. 
लI==0ल 9/-ल �/O> B. 
1=लI �? -?:1I 9:}9? 

C. 9>=?9ल� +:?)?0?? D. +���/I  ?9ट0?? 
 

Q20. The soil in Haryana is generally ______ . 
 

A. Black B. Alluvium 

C. Red D. Laterite 

Q20. Bर10?,? /O �/्䴾I �/-L1 +1 __________ BK-I BP| 
 

A. �?लI B. 
लI==0/ (�लKढ∼�) 

C. ल?ल D. लPट1?�ट (+�?� �? 9�1O=?लI ल?ल 9/टὍटI) 
 

Q21. Which is the most important river which flows in Haryana? 
 

A. Ganga B. Yamuna 

C. Brahmaputra D. Sahibi 

Q21. Bर10?,? /O -B)O??िI A-AO /Bm?+K,ा )/I �L)AI BP? 
 

A. ���? B. 0/I1? 

C. }}/+Iर? D. 9?9:-I 
 

Q22. In which district of Haryana, does Nahar wildlife sanctuary is situated? 
 

A. Rewari B. Mahendragarh 

C. Palwal D. Mewat 
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Q22. )B1 ??�ल㉍*ि?�? A	]्0J
1I (?न⡍0�I? 
.0?1o0) Bर10?,? �O  �L)AO ��िO /O �स㡍.- BP? 
 

A. 1O=1I B. /:े䜂्䵖�? 

C. +?ल=?ल D. /O=?- 

 

Q23. Who is the present governor of Haryana state (2019) ? 
 

A. Manohar Lal Khattar B. Prof.Kaptan Singh Solanki 

C. Keshni Anand Arora D. Satyadev Narayan Arya 

Q23. Bर10?,? 1?जᱍ0 �O  ?-ा/?) (2019) 1?जᱍ0+?ि �L) BP? 
 

A. /1K:1 ल?ल �्䵈1 B. �K. �o-?1 99�� 9Kल��I 

C. �O >1I �1�/ 
1K?? D. 9m0/O= 1?1?0?, �0- 
 

Q24. Which was the ruling party in Haryana in 2019? 
 

A. Bharatiya Janata Party and Jannayak Janta 

Party 

B. Bharatiya Janata Party and National People's 

Party 

C. Bharatiya Janata Party and Indian National 

Congress 

D. Bharatiya Janata Party and Bahujan Samaj 

Party 

Q24. 2019 /O Bर10?,? /O �L)A? +� Am?}?1I .?? 
 

A. .?1-I0 �1-? +्䵌 �1 �11?0� �1-? +्䵌 B. .?1-I0 �1-? +्䵌 �1 1?�रI0 लK�/ल 

C. .?1-I0 �1-? +्䵌 �1 .?1-I0 1?�रI0 �??्䵇O9 D. .?1-I0 �1-? +्䵌 �1 -:I�1 9/?� +्䵌 

 

Q25. As per the epic Mahabharata, Haryana was called as __________ . 
 

A. Bahudhanyaka B. Prithudaka 

C. Agrasen D. Thaneswar 

Q25. /B?�?}0 /B?.?1- �O  
)JA?1 Bर10?,? �K __________ �B? �?-? .?। 
 

A. -:I0?m0�? B. =�}I/�? 

C. 
्䵇9O1 D. }?1O�=1 
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Q26. Who is the Iron man of Haryana? 
 

A. Jyoti Basu B. Sabyasachi 

C. Ch. Bansilal D. Surendra Sharma 

Q26. Bर10?,? �O  िKB+Jy@ �L) BP? 
 

A. ]0K-- -?9ू B. 9m09?�� 

C. ��. -m9Iल?ल D. 9I1Om्䵖 >/?- 
 

Q27. On what basis, do the International Centre for Automotive Technology (ICAT), organized 
a three-day NuGen Mobility Summit 2019 to find alternative mobility solutions to issues 
like pollution from vehicular emissions? 

 

A. Smart & innovative Mobility B. Smart & safe Mobility 

C. Smart & automated Mobility D. Smart & Green Mobility 

Q27. ??B)ो䬂 �O  �mA�ा) AO �)/?ा, BK)O??िO �/K@, �PAI A/स㡍0? �? 
ल㉍?1)O�?? /K�-�ि?I �+?0ो䬂 AO A/?}?) +J	+)O �O  �िए �
?1)P?)ि AOन⡍?1 
?Q1 ऑ?K/K�?? ?O])LिL�I (ICAT) )O, ��A �}?1 +1 -I) �/?AI0 न⡍0K�O) /K�-�ि?I A�/? 2019 �? �0K�) ��0? .?? 

 

A. }/?ट- �1 �1K=O9ट= /K}-9लटI B. }/?ट- �1 9I1्䵌्䵌- /K}-9लटI 

C. }/?ट- �1 ऑटK/OटO? /K}-9लटI D. }/?ट- �1 :91- /K}-9लटI 
 

Q28. Where was the three-day NuGen Mobility Summit 2019 held in Haryana? 
 

A. Shanti Kunj B. Ambience Mall 

C. Manesar D. Kabuli Bagh 

Q28. Bर10?,? /O न⡍0K�O) /K�-�ि?I A�/? 2019 �? -I) �/?AI0 �0K�) �B?	 +1 ��0? �0? .?? 
 

A. >?�-I �I� � B. ए�ब-0m9 /Iल 

C. /,O9?1 D. �?-IलI -?� 

 

Q29. Who launched the CAT NuGen Drive Safe Club Mobile App in Haryana? 
 

A. Amit Shah B. Nitin Gadkari 

C. Ravi Shankar Prasad D. Pratap Simha 
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Q29. Bर10?,? /O CAT न⡍0K�O) ्䵑?�? AO? ]ि- /K-?�ि ए+ �? ��??) ��A)O ��0?? 
 

A. 
9/- >:? B. -1-I1 �?�1I 

C. 1=I >��1 �9?/ D. �-?+ 99ब:? 
 

Q30. Who is the leader of Jannayak Janata Party? 
 

A. Dushyant Chautala B. Anil Vij 

C. Banwari Lal D. Gian Chand Gupta 

Q30. �))?0� �)-? +� �O  )O-? �L) BP? 
 

A. /I�0�- �L-?ल? B. 
-1ल ==� 

C. -1=?1I ल?ल D. _0?1 ��/ �Io-? 
 

Q31. Who is the first chancellor of Haryana Sports University? 
 

A. Sachin Tendulkar B. Kapil Dev 

C. Sunil Gavaskar D. Dilip Vengsarkar 

Q31. Bर10?,? स㡍+K?ाA 0J�)?�Aा?I (Bर10?,? ?Oि �?��?o?ि0) �O  +BिO �J ि?�}+�- �L) BP? 
 

A. 9��- -े䜂?Iल�1 B. �=+ल /O= 

C. 9I-1ल �?=}�1 D. 9/लI+ =े䜂�91�1 
 

Q32. Haryana environment and climate change minister, Vipul Goel delivered a 5 - point 
formula to beat pollution in the state. Which bag he has suggested to the people to keep 
the environment clean? 

 

A. Jute bag B. Polyethylene plastic bags (more than 35 

microns) 

C. Semi-transparent white plastic bags D. Cotton bag 
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Q32. Bर10?,? ए�न⡍?1Q)/Oन⡍? 
	* ]ि?0/O? �Oन⡍� (Bर10?,? +0?ा?1, �1 ??-??1, -/ि??) /
}I, �?+Jि �Kएि�I )O 1?जᱍ0 �O  �/K@, �K /?- 
/O)O �O  �िए 5 /JoK �? ??म⹍0Jाि? �/0?| िK�ो䬂 �K +0?ा?1, A?? 1?)O �O  �िए �L)AO .PिO �0K� �1)O �? AJ�?? �न⡍Bो䬂)O �/0?? 

 

A. �टू (+ट91) }Pल? B. +I9ल�}9ल1 oल?�}ट� }PलO (35 /?0्䵅I1 9O .I -?O) 

C. 
0--+?1/>ी 9,O / oल?�}ट� }PलO D. 9-ूI }PलO 
 

Q33. Which of the following step is undertaken by the Haryana government in order to increase 
the Forest and Tree Cover, on other government lands, institutional lands, panchayat 
lands, common lands and other waste lands to bring sufficient area under tree cover? 

 

A. Huge plantation programme B. Firewood Collection 

C. Increase in infrastructure construction D. Replacement of forest areas with breeding 

Q33. Bर10?,? A1�?1 )O 
न⡍0 A1�?1I .K�/ +1, A
स㡍.?� 
 �ी .K�/ +1, +
�?0- �ी .K�/ +1, A?/?न⡍0 .K�/ +1 �1 
न⡍0 -O�?1 .K�/ +1 ?) �1 
+O*ो䬂 �ी �?	? -+?)O �O  �िए �)म⹍) /O AO �L)AO �// �)?ए	 .O? 

 

A. -?O +P/?1O +1 =्ृ䵌?1K+, �?0-्䵅/ B. 9�ूI ल�?I �/? �11? 

C. �m9?}र]�1 (�0?1.-ू 9�1�1?) �O  -1/?-, /े䜂 -+K-1I 
ल?1? 

D. =1 ्䵌Oर �I ��: ��11 >Iy �11? 

 

Q34. In order to beat pollution in the state, Haryana environment and climate change minister, 
Vipul Goel delivered a 5 - point formula. So according to him, under the 5 - point formula, 
how many trees should an individual plant in order to keep the environment healthy? 

 

A. Three trees in a year B. Three trees in a month 

C. Three trees in six months D. Three trees in three months 

Q34. Bर10?,? ए�न⡍?1Q)/Oन⡍? 
	* ]ि?0/O? �Oन⡍� (Bर10?,? +0?ा?1, �1 ??-??1, -/ि??) /
}I �?+Jि �Kएि�I )O 1?जᱍ0 �O  �/K@, �K /?- /O)O 
�O  �िए 5 /JoK �? ??म⹍0Jाि? �/0?| �)�O  �?�?1 AO �A 5 /JoK �O  ??म⹍0Jाि? �O  -B-, +0?ा?1, �? स㡍??स㡍M0 A
.?ि)O �O  �िए ए� }0�ि )O 
��-)O +O* ि�?)O �?�Bए? 

 

A. ए� 9?ल /े䜂 -I1 +O? B. ए� /9:1O /े䜂 -I1 +O? 

C. �: /9:1ो䬂 /े䜂 -I1 +O? D. -I1 /9:1ो䬂 /े䜂 -I1 +O? 
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Q35. Which is the famous writing of Surdas? 
 

A. Sur Sangeet B. Sur Sangam 

C. Raj Raso D. Sur Sagar 

Q35. AK1/?A �ी �?_0?- 1�)? �L)AI BP? 
 

A. 91ू9��I- B. 91ू9��/ 

C. 1?� 1?9K D. 91ू9?�1 
 

Q36. Which of the following is not TRUE about Computer? 
 

A. A computer can take any decision on its own. B. A computer can take data as input. 

C. A computer produces the output. D. A computer process the data 

Q36. �म⹍M0J?1 �O  -?1O /O �)म⹍) /O AO �L)A? A� )BK BP? 
 

A. �बo0Iट1 �I/ 9O :I �K� .I -1,-0 लO 9�-? :P| B. �बo0Iट1 ?Oट? �K �1+Iट �O  -L1 +1 }=I�?1 �1 9�-? :P| 

C. �बo0Iट1 ��ट+Iट -P0?1 �1-? :P| D. �बo0Iट1 ?Oट? +1 �}्䵅0? �1-? :P 
 

Q37. The Operating system is an ____________ . 
 

A. interface between Computer user and 

Computer software 

B. interface between Computer user and 

Computer Hardware 

C. interface between CPU and Computer software D. interface between CPU and Computer hardware 

Q37. ऑ+1O�?
� �Aस㡍?/ BK-I BP ____________ . 
 

A. �बo0Iट1 =?+1�-?- �1 �बo0Iट1 9Loट=O01 �O  -I� �? 
��ट1,O 9 

B. �बo0Iट1 =?+1�-?- �1 �बo0Iट1 :??-=O01 �O  -I� �? 
��ट1,O 9 

C. CPU �1 �बo0Iट1 9Loट=O01 �O  -I� �? ��ट1,O 9 D. CPU �1 �बo0Iट1 :??-=O01 �O  -I� �? ��ट1,O 9 

 

Q38. Which of the following is an input device? 
 

A. Headphone B. Plotter 

C. Mouse D. Video card 
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Q38. �)म⹍) /O AO �L)A? �)+J? �*??�A BP? 
 

A. :O?,K1 B. oलLट1 

C. /?�9 D. ==?I0K �??- 
 

Q39. ______________ are not allowed in an E-mail Address. 
 

A. Alphabets (a, b, c) B. Numbers (1, 2, 3) 

C. Spaces ( ) D. Special Characters (@, _) 

Q39. �-/Oि +-O /O ________________ �)�ी 
)J/�- )BK BP| 
 

A. 
्䵌1 (a, b, c) B. 9�_0? (1, 2, 3) 

C. }+O9O9 ( ) D. �?9 
्䵌1 (@, _) 

 

Q40. Find the odd number from the following: 
 

A. 1125 B. 216 

C. 1331 D. 4097 

Q40. �)म⹍) /O AO 
A
�- A
_0? +B�?)O: 
 

A. 1125 B. 216 

C. 1331 D. 4097 

 

Q41. Fill the blanks 
EGI : IGE :: LNO: __________ 

 

A. LMO B. XYZ 

C. ONL D. PON 

Q41. र1ि स㡍.?)ो䬂 �ी +K-I �1O 
EGI : IGE :: LNO: __________ 

 

A. LMO B. XYZ 

C. ONL D. PON 
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Q42. Fill the blanks in the series given below: 
 
SKL, TMN, UOP, ___? 

 

A. VQR B. VXY 

C. YGH D. TAB 

Q42. �)म⹍) ?L
?ि? /O र1ि स㡍.?)ो䬂 �ी +K-I �1O: 
 
SKL, TMN, UOP, ___? 

 

A. VQR B. VXY 

C. YGH D. TAB 

 

Q43. If BHUTAN is coded as CJXUCA, then how would the word CANADA be coded as? 
 

A. DBRDGE B. DBQCFD 

C. DCQBFD D. DCRCFD 

Q43. 0�/ BHUTAN �? �K�*
� CJXUCA BK-? BP -K CANADA �? �K�*
� ]0? BK�?? 
 

A. DBRDGE B. DBQCFD 

C. DCQBFD D. DCRCFD 

 

Q44. Simplify 
2/4 + 1/4(12+14-15). 

 

A. 13/4 B. 12/4 

C. 10/4 D. 15/4 

Q44. A1िI�1, �1O 
2/4 + 1/4(12+14-15). 

 

A. 13/4 B. 12/4 

C. 10/4 D. 15/4 
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Q45. What is the selling price of an article whose original price is  if the article is sold at 
15% loss? 

 

A.  B.  

C.  D.  

Q45. ��A �I� �ी /Kि �ी/-  BP �1 0�/ ?BI �I� 15% B?�) /O -O�I �?-I BP -K �A�ी -I्䵅ी �ी/- ]0? BP? 
 

A.  B.  

C.  D.  

 

Q46. A student passes the exam by scoring 83.5% out of 600. Find the total score of the student. 
 

A. 495 B. 509 

C. 510 D. 501 

Q46. ए� �?} 600 �J,ो䬂 /O AO 83.5% �J, +?�1 �mI,ा BK-? BP| �A �?} �O  �J ि �J,ो䬂 �ी A
_0? --?ए	| 
 

A. 495 B. 509 

C. 510 D. 501 

 

Q47. When y is subtracted from the ratio 3 : 4, the ratio becomes 5 : 6. Find the value of y. 
 

A. -1 B. -2 

C. -3 D. -4 

Q47. �- y �K 
)J+?- 3 : 4 AO  ??0? �?-? BP, -K 
)J+?- -)-? BP 5 : 6, -K y �? /Kल㉍0 --?�ए| 
 

A. -1 B. -2 

C. -3 D. -4 

 

Q48. According to the concept of inertia and mass, which of them has more inertia? 
 

A. Truck B. Bike 

C. Wooden bat D. Rubber ball 
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Q48. �न⡍AOM? ऑ? �)�?ा0? 
	* /?A (�डℼ-? �1 �}0/?) �ी �ल㉍+)?) �O  
)JA?1 �)म⹍) /O AO ��A/O 
�}� �)�?ा0? (�डℼ-?) BP? 
 

A. र� B. -?�� 

C. ल�?O �I -Pट D. 1-? -?ल 

 

Q49. The number of electrons present in M shell is ____ . 
 

A. 2 B. 8 

C. 32 D. 18 

Q49. M ?Oि /O �+�स㡍.- �िO]र?न⡍A �� A
_0? BK-I BP_________ 
 

A. 2 B. 8 

C. 32 D. 18 

 

Q50. ______ are called as suicide bag of cells. 
 

A. Nucleus B. Plastids 

C. Lysosomes D. Cytoplasm 

Q50. __________ �न⡍BO AJA?�* -P� ऑ? AOल㉍A (�m/ ?-�ी +O?I0ो䬂 �? .Oि?) �B? �?-? BP| 
 

A. �े䜂 ्䵖 B. oल?�}ट? 

C. ल?09K9Kब9 D. 9?0टKoल?]/ 

 

Q51. Which of the following setup file extension is used in the installation of software? 
 

A. .pdf B. .exe 

C. .accdb D. .docx 

Q51. �)म⹍)�ि�?- /O AO �L) A? फ?�ि AO?
+ ए]A?O?) AQo??O01 �ी स㡍.?+)? /O �+0K� ��0? �?-? BP? 
 

A. .pdf B. .exe 

C. .accdb D. .docx 
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Q52. What would be the first step in the process of an installation of any software? 
 

A. Find and download the .exe file. B. Find and double click the .exe file. 

C. Follow the instructions given in the dialog box. D. Change the software installation folder to .exe 

file 

Q52. ��AI .I AQo??O01 �ी �
स㡍?QिO?) �ी ��्䵅0? /O +Bि? �// ]0? BK�?? 
 

A. .exe फ?�ल +ू�+1? �1 ??�1लK? �11?। B. .exe फ?�ल �K +ू?+1? �1 ?-ल �]ल� �11?। 

C. ??0लI� -I]9 /े䜂 9/ए �ए -1/े>ो䬂 �? +?ल1 �11?। D. 9I़㱸ट=O01 ��}टIलO>1 फKल㉍?1 �K .exe फ?�ल /े䜂 -/ल1?। 
 

Q53. The installation in which all installation messages are saved in a log file is 
_______________. 

 

A. unattended installation B. headless installation 

C. attended installation D. silent installation 

Q53. ?B �
स㡍?QिO?) ��A/O A.I �
स㡍?QिO?) A
/O? िQ� फ?�ि /O ABO�O �?-O Bै䠂 _______________| 
 

A. 
1
टOm?O? ��}ट?लO>1 B. :O?लO9 ��}ट?लO>1 

C. 
टOm?O? ��}ट?लO>1 D. 9?�ले䜂ट ��}ट?लO>1 

 

Q54. Which of the following license is mandatory and to be agreed before installing any 
software? 

 

A. Network Agreement B. Hardware service agreement 

C. End-User agreement D. Network Agreement and Hardware service 

agreement 

Q54. �)म⹍)�ि�?- /O AO �L) A? ि?�AOA ��AI .I AQ़㱸??O01 �K �)स㡍?Qि �1)O AO +BिO 
स㡍?I�?1 �1)? 
�)??0ा? 

 

A. 1Oट=�-  ए्䵇I/े䜂ट B. :??-=O01 9==-9 ए्䵇I/े䜂ट 

C. ए�?-0�ू1 ए्䵇I/े䜂ट D. 1Oट=�-  ए्䵇I/े䜂ट �1 :??-=O01 9==-9 ए्䵇I/े䜂ट 
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Q55. Choose the best option which can be used to create a Resume. 
 

A. MS Excel B. MS Word 

C. MS PowerPoint D. MS Access 

Q55. A-AO 
्�? �?�ल㉍+ �J)O ��A�? �+0K� र1जᱍ0K/O -)?)O �O  �िए ��0? �? A�-? BP। 
 

A. MS ए]9Oल B. MS =?- 

C. MS +?=1+I��ट D. MS ए]9O9 

 

Q56. Which of the following options would be chosen to calculate and keep a record of your 
monthly expenses? 

 

A. MS Excel B. MS PowerPoint 

C. MS Access D. MS Word 

Q56. �)म⹍)�ि�?- /O AO �L) A? �?�ल㉍+ �+�O  /?�A� ?�ो䬂 �? र1�Q*ा 1?)O �1 1?)O �O  �िए �J)? �?ए�?? 
 

A. ए/ ए9 ए]9Oल B. ए/ ए9 +?=1+I��ट 

C. ए/ ए9 ए]9O9 D. ए/ ए9 =?- 
 

Q57. Which of the following MS office tools helps to set up a meeting in different time zones? 
 

A. MS PowerPoint B. MS Outlook 

C. MS Access D. MS Word 

Q57. �)म⹍)�ि�?- /O AO �L) A? ए/ एA ऑ�?A ?Kि �?�.न⡍) A/0 �O}ो䬂 /O ए� /I�?
� -Jि?)O /O /// �1-? BP? 
 

A. ए/ ए9 +?=1+I��ट B. ए/ ए9 ��टलI� 

C. ए/ ए9 ए]9O9 D. ए/ ए9 =?- 
 

Q58. Which of the following is a database management system used to store data or 
information? 

 

A. Using MS PowerPoint B. Using MS Outlook 

C. Using MS Word D. Using MS Access 
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Q58. �)म⹍)�ि�?- /O AO �L) A? ए� *O??-OA �-
}) �,?िI (*O??-OA /P)O�/O? �Aस㡍?/) BP ��A�? �+0K� *O?? 0? AK�)? �K A
्䵇BI- �1)O �O  
�िए ��0? �?-? BP? 

 

A. ए/ ए9 +?=1+I��ट �? �+0K� �11? B. ए/ ए9 ��टलI� �? �+0K� �11? 

C. ए/ ए9 =?- �? �+0K� �11? D. ए/ ए9 ए]9O9 �? �+0K� �11? 
 

Q59. The set of instructions in program code gets converted into __________. 
 

A. binary B. octal 

C. hexadecimal D. numeric 

Q59. �K्䵇?/ �K* /O �)/O?ो䬂 �? AO? _____________________ /O +र1?�-ा- BK �?-? BP| 
 

A. -?�11I B. ऑ]टल 

C. :O]9??O99/ल D. m0ू/O91� 

 

Q60. In Binary coded Decimal code, each digit represents ___________. 
 

A. 4 bit binary number B. 2 bit binary number 

C. 3 bit binary number D. 1 bit binary number 

Q60. -?�)1I �K�*- /?/ि? �K* /O, �m0O� 

� ___________ �? ��-�)�}m? �1-? BP| 
 

A. 4 }-ट -?�11I 1�-1 B. 2 }-ट -?�11I 1�-1 

C. 3 }-ट -?�11I 1�-1 D. 1 }-ट -?�11I 1�-1 
 

Q61. Which of the following hardware device is used to connect other computers and hardware 
devices to it and send data packets? 

 

A. Routers B. Network Cables 

C. Internal Network Cards D. External Network Cards 

Q61. �)म⹍) /O AO ��A �?�ल㉍+ �K )O??�ा  AO �)O]? �1)O �O  �िए ��AI .I )O??�ा  �O -ि �ी �?�0�-? )BK BP? 
 

A. 1?�ट9- B. 1Oट=�-  �O -ल㉍9 

C. ��-91� 1Oट=�-  �??- D. -?:1I 1Oट=�-  �??- 
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Q62. A router is a device consisting of ____________. 
 

A. Buses B. Ring 

C. Ports D. Hubs 

Q62. 1?�?1 ए� �+�1, BP ��A/O ___________ BK-? BP। 
 

A. -9O9 B. 91�� 

C. +KटὍ-9 D. :m9 

 

Q63. Where do you insert the internal network card in a computer? 
 

A. Routers B. USB Port 

C. Server D. Motherboard 

Q63. �+ �
 M0K?1 /O �
-र1� )O??�ा  �?*ा �B?
 AO *?ि-O Bै䠂? 
 

A. 1?�ट9- B. USB +Kट- 

C. 9=-1 D. //1-K?- 
 

Q64. Which is the common protocol used for communication in MAN? 
 

A. XS-983 B. RS-567 

C. RS-232 D. X-734 

Q64. MAN /O A
�?1 �O  �िए �0Jि A?/?न⡍0 �K?K�Qि �L) A? BP? 
 

A. XS-983 B. RS-567 

C. RS-232 D. X-734 

 

Q65. Which of the following option is used to create a static web page? 
 

A. HTML B. JSP 

C. ASP D. COBOL 
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Q65. स㡍?P�?� ?O- +O� -)?)O �O  �िए �)म⹍) /O AO ��A �?�ल㉍+ �? �+0K� ��0? �?-? BP? 
 

A. HTML B. JSP 

C. ASP D. COBOL 

 

Q66. Where does a post or an article appears in a static web page? 
 

A. Header B. Footer 

C. Main Content Area D. Side Bar 

Q66. स㡍?P�?� ?O- +O� /O �K� +Kस㡍? 0? िO? �B?
 �/??� /O-? BP? 
 

A. :P?1 B. ,I ट1 

C. /O1 �� टOट ए910? D. 9?�? -?1 
 

Q67. Which of the following option is INCORRECT regarding static page development? 
 

A. A static page is created with the help of HTML. B. Only owners can change the content of the 

static pages. 

C. The request of the Static web page is sent 

through HTTP to the server. 

D. The content generates quickly and changes 

regularly. 

Q67. स㡍?P�?� +O� *O?ि+/O? �O  A
-
} /O �)म⹍)�ि�?- /O AO �L) A? �?�ल㉍+ }J�?+K,ा BP? 
 

A. HTML �I /// 9O ए� }टP9ट� +O� -1?0? �?-? :P। B. �O =ल �19- }टP9ट� +O�ो䬂 �I 9?/्䵇I �K -/ल 9�-O :ै䠂। 

C. }टP9ट� =O- +O� �I 91]=O}ट HTTP 9O 9=-1 +1 .O�I �?-I 
:P। 

D. �� टे䜂ट �ल㉍/I 9O �m+m1 :K-I :P �1 -109/- z+ 9O -/ल-I 
:P। 

 

Q68. What would be the URL of a static page xyz? 
 

A. www.yourdomainname.com/xyz.html B. xyz.html 

C. www.xyz.com D. www.xyz.html 

Q68. स㡍?P�?� +O� xyz �? URL ]0? BK�?? 
 

A. www.yourdomainname.com/xyz.html B. xyz.html 

C. www.xyz.com D. www.xyz.html 
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Q69. A program code in any programming language is formed by ___________. 
 

A. number of codes B. number of mathematical expressions 

C. number of instructions D. number of forms 

Q69. ��AI .I �K्䵇?�/
� .?@? /O ए� �K्䵇?/ �K* ___________ �?1? -)?0? �?-? BP। 
 

A. �K?ो䬂 �I 9�_0? B. �+,-I0 }0�m�ो䬂 �I 9�_0? 

C. -1/े>ो䬂 �I 9�_0? D. z+ो䬂 �I 9�_0? 
 

Q70. Boolean data type can have the values of either _________. 
 

A. 1 or 2 B. 0 or 1 

C. 1 or 10 D. 0 and 2 

Q70. -K�ि0) *O?? ��?1 /O 0? -K _________ �O  /?) BK A�-O Bै䠂। 
 

A. 1 
}=? 2 B. 0 
}=? 1 

C. 1 
}=? 10 D. 0 �1 2 

 

Q71. The insert operation in queue data structures is called ____________________. 
 

A. enqueue B. dequeue 

C. push D. opo 

Q71. ]0K *O?? A
1�)?� 
 /O A�म⹍/�ि- ऑ+1O?) �K ___________ �B? �?-? BP। 
 

A. ए1]0ू B. ?I]0ू 

C. +I> D. �+K 
 

Q72. Which of the following option converts the whole code into a binary format at a time? 
 

A. Interpreter B. Assemblers 

C. Translator D. Compiler 
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Q72. �)म⹍)�ि�?- /O AO �L) A? �?�ल㉍+ ए� -?1 /O +K1O �K* �K ए� -?�)1I �?z+ /O +र1?�-ा- �1-? BP? 
 

A. ��ट1�Oट1 B. 
}9OबmलO9- 

C. र?�9लOट1 D. �ब+?�ल1 
 

Q73. Which of the following option is used to write a program for better understanding of the 
programming code? 

 

A. Functions B. Comments 

C. Loops D. Whitespaces 

Q73. �K्䵇?�/
� �K* �ी -OB-1 A/� �O  �िए �K्䵇?/ �ि?)O �O  �िए �)म⹍) /O AO ��A �?�ल㉍+ �? �+0K� ��0? �?-? BP? 
 

A. ,� ]>�9 B. �/े䜂टὍ9 

C. लoू9 D. }:?�ट}+O9 

 

Q74. The smallest unit of a program used to perform a specific task that returns a value to the 
main program is __________. 

 

A. Syntax B. Functions 

C. Iterator D. Loop 

Q74. ए� �K्䵇?/ �ी A-AO �K?I ��?� ए� �?�?� �?0ा �1-I BP �K /J_0 �K्䵇?/ �O  �िए ए� ?Pल㉍0K िL??-? BP __________| 
 

A. 99�टO]9 B. ,� ]>�9 

C. �ट1Oट1 D. ल+ू 
 

Q75. Which one of the following options is a disadvantage of computerized accounting 
software? 

 

A. Speed and Accuracy B. MIS and Quality reports 

C. Security breach D. Automated document production 

Q75. �)म⹍)�ि�?- /O AO �L) A? �?�ल㉍+ �
 M0K?1?�जᱍ* 
�?�
�?
� AQo??O01 �? 
ि?. BP? 
 

A. �-- �1 9टI�-? B. ए/��ए9 �1 �I,=्䵈? 91+Kट- 

C. 9I1्䵌? .�� D. }=�?9ल- /}-?=Oज᰼ �m+?/1 
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Q76. If training requirements are low and number of users and their interface is unlimited, then 
the accounting software to be used is _____________. 

 

A. customized B. tailored 

C. ready to use D. generic 

Q76. 0�/ ��?�, �ी �?�0�-?ए
 �/ Bै䠂 �1 �+0K��-?ा� 
 �ी A
_0? �1 �)�? �
?1फO A 
AI�/- BP, -K �+0K� ��ए �?)O ??िO 
िO??
�) AQo??O01 _____________ BP। 

 

A. 
1I�ू9ल- B. 
1Iz+ 

C. �+0K� �11O �O  9लए -P0?1 D. 9?0?1, 

 

Q77. The accounting software that combines all systems used for inventory management, 
marketing, product planning, Finance and HR in big organization is ___________. 

 

A. Enterprise Resource Planning B. Accounting 

C. Billing & Invoicing D. Payroll management 

Q77. िO?? AQo??O01 �K �न⡍?OरI �-
}), �?+,), �m+?/ 0K�)?, �?m �1 /?)? A
A?}) �O  �िए -डℼO A
�)) /O �+0K� ��ए �?)O ??िO A.I 
�,?�ि0ो䬂 �K �Kडℼ-I BP, ___________ BP। 

 

A. ए�ट1�?�� 919K9- oल?-1�� B. ए�?�� 9ट�� 

C. }-9ल�� �1 �?ल?1 D. +O1Kल �-�01 

 

Q78. Which software do you use to calculate the current year's financial performance and 
estimate for the next year? 

 

A. Budgeting and Forecasting B. Management of fixed asset 

C. Billing & Invoicing D. Payroll management 

Q78. ?-ा/?) ?@ा �O  �?mI0 �/?ा) �ी �,)? �1 
�िO ?@ा �O  �िए 
)J/?) ि�?)O �O  �िए �+ ��A AQ़㱸??O01 �? �+0K� �1-O Bै䠂? 
 

A. -�ट �1 +=ू?-1I/?1 B. 
�ल 9�+=्䵈 �? �-�01 

C. }-9ल�� �1 �?ल?1 D. +O1Kल �-�01 
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Q79. Which of the following category is related to intrusion prevention systems? 
 

A. Disaster security B. Application security 

C. Recovery security D. Network security 

Q79. �)म⹍)�ि�?- /O AO �L) AI ्䵦O,I  JA+P) 1K�.?/ �,?िI AO A
-
�}- BP? 
 

A. )?�?}ट1 9I1्䵌? B. एoलI�O >1 9I1्䵌? 

C. 91�=1I 9I1्䵌? D. 1Oट=�-  9I1्䵌? 
 

Q80. What does the CIA model of cybersecurity refer to? 
 

A. CIA (Confidentiality, Integrity, and Atomicity) B. CIA (Concurrency, Integrity, and Availability) 

C. CIA (Concurrency, Inconsistency, and 

Availability) 

D. CIA (Confidentiality, Integrity, and Availability) 

Q80. A?�-1 AJ1�? �? AI��ए (CIA) /Q*ि ]0? /??ा-? BP? 
 

A. CIA (�K+1I0-?, 
��?-?, �1 +1/?�==�-?) B. CIA (9/z+-?, 
��?-?, �1 �+लm0-?) 

C. CIA (9/z+-?, 
9��-- �1 �+लm0-?) D. CIA (�K+1I0-?, 
��?-? �1 �+लm0-?) 
 

Q81. The attack also called as exhaustive search, in which a hacker uses a various combination 
of guesses to hack a confidential data is _________. 

 

A. Phishing B. Brute force 

C. Man in the middle D. Denial of service 

Q81. B/िO �K AJ�?स㡍-L- ?K� .I �B? �?-? BP, ��A/O ए� BP�1 �K+)I0 *O?? �K BP� �1)O �O  �िए 
)J/?)ो䬂 �O  �?�.न⡍) A
0K�) �? �+0K� 
�1-? BP _________। 

 

A. },9>�� B. }टू फK9- 

C. /ै䠂1 �1 / 9/)?ल D. )?1?0ल ऑफ 9==-9 

 

Q82. The type of phishing done over voice calls is ____________. 
 

A. Spear Phishing B. Smishing 

C. Vishing D. Whaling 
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Q82. ?Q0A �Qि +1 �ी �?)O ??िI �फ�?
� �? ��?1 ____________ BP। 
 

A. }+I01 }फ9>�� B. �}/9>�� 

C. ==9>�� D. }=P9ल�� 

 

Q83. Which type of e-commerce model belongs to, if the buyer and seller are individuals and 
using the third-party tool? 

 

A. C2C B. B2C 

C. B2B D. C2B 

Q83. �-�Q/Aा /Q*ि ��A ��?1 �? BP, 0�/ ?1I/?1 �1 �?्䵅O -? }0�ि Bै䠂 �1 -IA1O +� �O  ?Kि �? �+0K� �1 1BO Bै䠂? 
 

A. C2C B. B2C 

C. B2B D. C2B 

 

Q84. Which of the following statement is a disadvantage regarding the e-commerce site? 
 

A. E-commerce website provides product 

datasheets. 

B. It is related to information technology and 

requires huge investment for infrastructure. 

C. Through E-commerce sites, buying option is 

easily available and convenient. 

D. The seller can enhance their business through 

search engine visibility. 

Q84. �)म⹍)�ि�?- /O AO �L) A? �.) �-�Q/Aा A?�? �O  A
-
} /O )J�A?) BP? 
 

A. �-�I/9- =O-9?�ट �m+?/ ?Oट?>Iट �/?1 �1-I :P। B. 0: 9�ू1? �Lद♍0K���I 9O 9�-��0- :P �1 -I-10?/I +?��O �O  
9लए .?1I -1=O> �I �=�0�-? :K-I :P। 

C. �-�I/9- 9?�टो䬂 �O  /?o0/ 9O, �1I/1O �? ==�ल㉍+ �9?1I 
9O �+लm0 :P �1 9I==0?�1� :K-? :P। 

D. ==्䵅O -? �K� ���1 द♃�0-? �O  /?o0/ 9O 
+1O }0=9?0 �K 
-ढ∼? 9�-? :P। 

 

Q85. The security protocol developed by Visa and Mastercard in e-commerce is 
______________. 

 

A. User Datagram Protocol B. Secure Hypertext Transfer Protocol 

C. Secure Socket Layer D. Secure Electronic Transaction 
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Q85. �-�Q/Aा /O ?I�? �1 /?स㡍?1�?*ा �?1? �?��A- AJ1�? �K?K�Qि ______________ BP। 
 

A. 0�ू1 ?Oट?्䵇?/ �KटK�Iल B. 99]0K1 :?�+1टO]}ट र?�9,1 �KटK�Iल 

C. 99]0K1 9I�O ट लO01 D. 9I1्䵌्䵌- �लO]रI-1� रPmज᰼P]>1 

 

Q86. Choose the incorrect statement regarding E commerce business. 
 

A. E commerce business discourage supply 

management. 

B. E commerce business evaluate sales 

effectiveness. 

C. E commerce business decreases the 

paperwork. 

D. E commerce business helps in enhancing the 

brand image of the company 

Q86. � �Q/Aा }0?A?0 �O  -?1O /O �ि- �.) �J)O। 
 

A. � =?+,]0 }0=9?0 �+-ू-- �-�01 �K :-Km9?9:- �1-? :P। B. � =?+,]0 }0=9?0 }-्䵅I �.?=>Iल-? �? /लू㉍0?��1 �1-? 
:P। 

C. � =?+,]0 }0=9?0 �?��I �?1-=?� /े䜂 �/I �1-? :P। D. � �I/9- }0=9?0 �� +1I �I }?�? �== �K -ढ∼?1O /े䜂 /// 
�1-? :P 

 

Q87. If an antivirus uses an algorithm to compare the signature of known virus against a 
potential threat, the detection is called as ____________. 

 

A. Behaviour based detection B. Heuristic based detection 

C. Signature based detection D. Cloud based detection 

Q87. 0�/ ए� ए
?I??01A A
.?�?- ?-1O �O  �?ि?? _?- ??01A �O  Bस㡍-?�1 �ी -Jि)? �1)O �O  �िए ए� एल㉍�Kर1M/ �? �+0K� �1-? BP, -K 
+B�?) �K ____________ �B? �?-? BP। 

 

A. }0=:?1 �0?91- +:�?1 B. 
1I/?1 �0?91- +:�?1 

C. :}-?्䵌1 �0?91- +:�?1 D. ]ल?�? �0?91- +:�?1 

 

Q88. If an antivirus scans only the selected files that are most likely to be infected, then the scan 
is called as __________. 

 

A. Quick scan B. Smart scan 

C. Hyper scan D. Startup scan 
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Q88. 0�/ �K� ए
?I??01A �O ?ि �) �0�)- फ?�िो䬂 �K स㡍�P ) �1-? BP �K A
्䵅�/- BK)O �ी A-AO 
�}� A
.??)? BP, -K स㡍�P ) �K 
__________ �B? �?-? BP। 

 

A. �]=� }�P 1 B. }/?ट- }�P 1 

C. :?�+1 }�P 1 D. }ट?ट-
+ }�P 1 

 

Q89. The firewall type also known as application level gateway that verifies both packet 
filtering and TCP handshake protocols is ________. 

 

A. Circuit Level gateway B. Stateful inspection 

C. Proxy firewall D. Packet filtering 

Q89. फ?01?Qि ��?1 �K एMिI�O ?) �O  स㡍-1 +1 �O??O �O  z+ /O .I �?)? �?-? BP �K +P�O ? �फल㉍?र1
� �1 TCP Bै䠂*?O� �K?K�Qि /K)ो䬂 �K 
Am0?�+- �1-? BP, ____________ BP। 

 

A. 9}�- ट लO=ल �Oट=O B. }टOट,I ल ��}+O]>1 

C. �I]9I फ?01=Iल D. +P�O ट }फल㉍ट91�� 

 

Q90. How Antivirus software saves your computer if you are trying to insert the infected 
external drive? 

 

A. Antivirus software would not allow opening the 

external drive files. 

B. Antivirus software scan and remove the 

infected files. 

C. Antivirus software scan, remove the infected 

files and create a new copy of it. 

D. Antivirus software would not allow the infected 

external drive to be inserted on a port. 

Q90. 0�/ �+ A
्䵅�/- -?B1I ्䵑?�? �K ि�?)O �? �0?A �1 1BO Bै䠂 -K ए
?I??01A AQ़㱸??O01 �+�O  �
 M0K?1 �K �P AO -�?-? BP? 
 

A. ए�टI=?019 9I़㱸ट=O01 -?:1I ्䵑?�= फ?�लो䬂 �K �Kल1O �I 

1I/-- 1:I� /O-? :P। 

B. ए�टI=?019 9I़㱸ट=O01 }�P 1 �1 9�्䵅9/- फ?�लो䬂 �K :ट? 
/O-? :P। 

C. ए�टI=?019 9I़㱸ट=O01 }�P 1, 9�्䵅9/- फ?�लो䬂 �K :ट? /O-? :P 
�1 �9�I ए� 1� �-- -1?-? :P। 

D. ए�टI=?019 9I़㱸ट=O01 9�्䵅9/- -?:1I ्䵑?�= �K +Kट- +1 ??ल1O 
�I 
1I/-- 1:I� /O-? :P। 
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